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QUESTION PAPER SPECIFIC INSTRUCTIONS
Please read each of the following instructions carefully before attempting questions.

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a) |

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)‘

2.(b)

2.(c)

3.(a)

3.(b)

gus ‘A’ SECTION ‘A’
frreferfaa wee v &1 SR oW 150 vt § Qg
Answer the following questions in about 150 words each : 10x5=50
g ¥ ferar & miferm qan aerife gfiwor $ gam = @ =R welifa = |
Compare and contrast Marshallian and Walrasian approaches of the stability in
equilibrium. 10

AARIGT AR W & JART aRd §¢ ST fh e semmar o SeeER
T heamor i feufa ot soeh ot ® |

Using generalised Lorenz dominance show that lower inequality represents a higher
social welfare state. 10
Wﬁﬁm-mﬁqm%wfﬁammﬁwﬁﬁm |

Examine the relationship between business cycle and changes in autonomous
expenditure. 10
T WA -ITR fosft-fasr & g ot 9¢a Ashar ® ? Sqe0 oo qaATsy |

Does government borrowing always crowd out the private investment ? Illustrate

afe TEHR AT O N R T ¢ Y Isa%aﬁm@é}mwaaﬁmﬁrgaﬁ'
THAYT IR T &R AT I Y IS 5 T I URafid Fel BFNl | 9 379aT 3acd ?

qHAT |

The slope of the IS schedule will become steeper if the government reduces the rate of
proportional tax but will not change at all if the government reduces

the level of a lump sum tax. True or false ? Explain. 10

FAl & GO IUTG AR Aigd qaT fadidiad-Iaamg garfier Ated it firmarstt
§ =ren Fif |

Explain the differences between Cournot model of duopoly with similar product and
differentiated product. 15
TG A F R JER 1 AT W § ? 19k ATER FT TG AT 5h
ﬁﬁ@gqm&mwﬁ@?ﬁwﬁakmmm%? M S & I g

I
What type of conjecture is involved in the existence of kinked demand curve ? Do you

think that kinked demand curve model is a price determination model in an oligopoly
market ? Justify your answer. 5+10
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Examine how profit, wage and rent in Ricardian system move differently with the
movements in level of income. 20

zyizy T frfed wenw (srekemsn wwadTem) | g, HIfREw 1@ Farfaed aqy
qfciash § g I I € |

Show that differences in underlying expectation lead to differences in Keynesian and
classical aggregate supply curve. 15
TReaT-vEe fagra &1 W 9 gu = i e aer-afd #@ afg ame-R @t
T HH IR ol § | 39 AT H FIA-KR & Wi FT UROT SR T © 7

Apply the theory of liquidity preference to explain why an increase in money supply
lowers the interest rate. What does this explanation assume about the price level ? 15
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3.(c)

4.(a)

4.(b)

4.c)

5.(a)

5.(b)
5.(c)

5.(d)

5.(e)
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Explain how the weaknesses of Keynesian speculative demand for money have been
identified in Regressive Expectations model. 20

FH-TAER P Fqfoid A g, FA IF 7 B 6l 301 H, A HI Feqehled THI-
gfd =k e HIY | FenATg Qo e W T F5h okl e d F#1 R ?

Derive short-run aggregate supply curve following Lucas, when expectations are not
realised, assuming that labour market clears. What will be its shape when expectations
are fulfilled ? 10+5
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Describe high powered theory of money supply in brief. State the assumptions
made in its construction. 8+7
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(i) TH Get sfeaen # R fafma « w o e Goi-aifashiaar & @ |
Do you think that increase in Government spending through borrowing from public
accompanied by fall in required reserve ratio generates recession in the economy ?
Illustrate your answer :

(i) in a closed economy with fixed exchange rate.
(i) in an open economy with fixed exchange rate and without any capital mobility.

20
9us ‘B’ SECTION ‘B’
frrafafea vas v &1 IIR T 150 981 # ST |

Answer the following questions in about 150 words each : 10x5=50

aﬁmaﬁmq&ﬁamwaﬁmmv&m%lﬁﬁ%ﬁﬁ—ﬂa%w
gferor it s Hifvrg |

Explam Rosenstein-Rodan’s view that economic underdevelopment is the outcome of

a massive coordination failure. 10
o Hagaia wHa faewm g %&rwﬁﬁaﬁmmm% =TT Hifg |
Explain how gender sensitive human development index can be constructed. 10

2z fr et = @ e e FR ¥ R e wdheR U qaten # |
Show that the economic integration is the pre-requisite to establish covered interest
rate parity. 10
Treafae fafma ) for qen ‘R & R’ A waig B 2 ==t Fif |

Under what condition Real Exchange Rate is synonymous to ‘terms of trade’ ?
Discuss. 10

wmw%m%%mmmmaﬁmwﬁwﬁgﬁﬁﬁm
? 7 = fifvg |

Do you agree whether sustainable use of energy ensures economic sustainability ?
Explain. 10

3 HXS-U-ECON



6.(2)
6.(b)
6.(c)
7.(a)

\ 7.(b)

7.(¢)
8.(2)

8.(b)

8.(c)

FoeE B A fRT IR U AR 9% aieed @ qRieA g | H®T a8
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Evaluate Kuznets’ inverted U shaped curve hypothesis of income distribution. Does it
hold good for less developed countries as well ? 15

T G- qgﬁafrﬁimq%'qﬂm% ? wE ffSy for A -goi-femfor &t @ sgrn
ST T ® |

Does human capital cause economic growth ? Explain how human capital formation
can be enhanced. 15

e Fif for & 6 wifed 9fg ® @ IR A s gy R TE § | @A e
IR gfg wied F fore yaR Saa form @ 2

Explain how Harrod’s warranted rate of growth is similar to Domar’s required rate of
growth. How has Solow improved upon Harrod-Domar’s growth model ? 20

JugTh SETERUI T SUANT IRA BT FRIGA-AMR # JAfia-emw & fagrea &t ==
Hiferg |

Discuss the theory of acquired advantage in international trade using suitable
examples. 15
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Do you think that movement of the nominal exchange rate of Rupee represents a
corresponding movement of Indian goods vis-a-vis foreign goods ? Explain your
position. 15
AIR-guet & fafr Afvmt w1 € 7 99 SR-gve scafasta sEERnEt & fed
F8 7 oy IR B SR Rig BRT |

What are the different categories of trade blocks ? Are trade blocks beneficial to less
developed economies ? Justify your answer. 20
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*If the ‘government raises taxes on labour income and interest income, explain how

potential GDP and economic growth are affected. 15
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(ii) Qﬁaaaéwawuﬁaﬁmﬁana@%m

Examine the effects of providing public service by a private agency at a lesser

price than earlier one on

(i) a closed economy with fixed wages. :

(i) a closed economy with flexible wages. 15
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What is Buchanan’s criticism of Arrow’s theorem ? Show how A. K. Sen proved

Arrow’s theorem without the overall consistency of social choice to avoid the criticism

of Buchanan. 8+12

HXS-U-ECON 4



